g
OWNER’S MANUAL

Black & Decker-

No. 4300
PROFESSIONAL DRILL BIT SHARPENER

This professional
tool is designed

for fast, accurate
sharpening of
right-hand, 2-flute
twist drill bits from
8" to V2" in diameter.
DO NOT attempt to
sharpen carbide-tipped
or cobalt bits.

Since proper procedure is
essential to satisfactory
results, read the operating
instructions carefully.
Also, for your own
protection, pay close
attention to the safety
rules. Don’t forget to

send in the guarantee
registration card.

CONTENTS

Mounting the sharpener
Safety rules

Selecting to sharpen
bits or dress wheel

Sharpening of bits
Wheel dressing
Wheel replacement
Maintenance
Troubleshooting 10
Adjustments 10

W w

© O oo o,




T | -

You and your new B&D dr|II bit sharpener

DeS|gned to saveyou money...

bit by bit. This B&D drill bit sharpener is
a completely different, carefully engineered
heavy-duty tool. Nothing else will give you
professional results at such extraordinarily low
cost. Properly used, it will return dull, worn bits
to like-new condition.

Main functional parts of your
B&D drill bit sharpener

E EEE—— n— —

Ta ke time fora get-acq ualnted

look. The B&D drill bit sharpener is relatively
easy to use. But it does require a little “learn-
ing” to become expert. So, for a start, think of
your B&D sharpener as the best bench grinder
you've ever used—with some very important
differences. Differences that will enable you,
after a little practice, to accurately sharpen a
twist drill bit in 60 seconds or less.

the chuck.

Index sleeve Permits you to sharpen first one

side of the drill bit tip, and then the
other side without removing the bit from

Feed knob
Provides precision
control of feed rate
(material removal)
during sharpening.

Sharpen/Dress selector
Programs the

tool for either
bit sharpening
or wheel

Latch

/

7 Swinghead Lets you move the
bit across the grinding wheel at
the correct angle repeatedly.

position during

Chuck Holds bit in

dressing.

on/off
motor switch

Guard band
adjust. screw

Wheel cover o

Locator Guides positioning of
drill bit so that sharpening will be
correct and accurate.

Eye shield

Grinding
wheel

REMEMBER

1. Play it safe—know and follow
all SAFETY RULES.

2.Be sure locator is clear of
grinding wheel before starting
motor.

3. Use light pressure and an even
motion in rocking the swing-
head when grinding.

4, When shifting from BIT SHARP-
ENING to WHEEL DRESSING—
and vice versa—follow instruc-
tions with extra care.

5. Replace a cracked wheel im-
mediately.

6. Never disassemble the tool or
try to do any rewiring in the
electrical system.

sharpening operation.

v ‘ |



Mounting the sharpener

FOR BEST RESULTS YOUR SHARPENER
SHOULD BE MOUNTED TO A FIRM WORK
SURFACE. Drill two %" holes in work bench as
shown in Figure 1. Insert two %" diameter car-

[¢==TOOL OUTLINE

- -
le
.

413/16"

FRONT

FIG. 1

I

Safety rules

SAFETY
SEAL [

power tool institute A

Safety rules for stationary power tools

1. KNOW YOUR POWER TOOL. Read the owner’s manual care-
fully. Learn its application and limitation, as well as the spe-
cific potential hazards peculiar to this tool.

2. KEEP GUARDS IN PLACE and in working order.

3. GROUND ALL TOOLS. If tool is equipped with three-prong
plug, it should be plugged into a three-hole electrical recep-
tacle. If an adapter is used to accommodate a two-prong
receptacle, the adapter wire must be attached to a known
ground. Never remove the third prong.

4, REMOVE ADJUSTING KEYS AND WRENCHES. Form habit of
checking to see that keys and adjusting wrenches are removed
before turning on tool.

5. KEEP WORK AREA CLEAN. Cluttered areas and benches
invite accidents.

6. AVOID DANGEROUS ENVIRONMENT. Don't expose power
tools to rain. Don't use power tools in damp or wet locations.
Keep your work area well illuminated.

7. KEEP CHILDREN AWAY. All visitors should be kept a safe
distance from work area.

8. MAKE WORKSHOP KIDPROOF — with padlocks, master
switches, or by removing starter keys.

9. DON'T FORCE TOOL. It will do the job better and be safer at
the rate for which it was designed.

10. USE RIGHT TOOL. Don'’t force tool or attachment to do a job
it was not designed for.

11. WEAR PROPER APPAREL. No loose clothing or jewelry to get
caught in moving parts. !

12. USE SAFETY GLASSES. Also use face or dust mask if cutting
operation is dusty.

13. NEVER STAND ON TOOL. Serious injury could occur if the
tool is tipped or if the cutting tool is accidentally contacted.

riage bolts. Slide Sharpener over bolt heads and
fit bolt heads into openings provided in bottom
of tool (Figure 2). Tighten nuts on bolts evenly
with moderate force. Do not overtighten!

14. DON'T OVERREACH. Keep your proper footing and balance
at all times.

15. MAINTAIN TOOLS IN TOP CONDITION. Keep tools sharp and
clean for best and safest performance. Follow instructions for
lubricating and changing accessories.

16. DISCONNECT TOOLS before servicing and when changing
accessories such as blades, bits, cutters.

17. USE RECOMMENDED ACCESSORIES. Consult owner’s man-
ual. Use of improper accessories may be hazardous.

18. AVOID ACCIDENTAL STARTING. Make sure switch is off be-
fore plugging in cord.

Additional Safety Rules for the Drill Bit Sharpener

1. Always use guards and eye shield. Always wear safety glasses
or other eye protection when operating this tool and keep the
eye shield mounted in proper position.

2. Replace a cracked wheel immediately. Handle grinding wheels
carefully to avoid bumping or dropping. DO NOT use a grind-
ing wheel that has been dropped. Before using, inspect each
grinding wheel for cracks or flaws and if these are evident,
discard the wheel. ‘

3. Before mounting a new wheel, be sure that it is marked with

an R.P.M. that is the same as, or higher than, the no-load speed
of the tool as marked on the nameplate.

4. Do not overtighten wheel nut.

5. Use only clamp washers furnished with this tool.

6. CHECK DAMAGED PARTS. Before further use of the tool, a
guard or other part that is damaged should be carefully
checked to assure that it will operate properly and perform its
intended function—check for alignment of moving parts, bind-
ing of moving parts, breakage of parts, mounting, and any
other conditions that may affect its operation. A guard or other
part that is damaged should be properly repaired or replaced.

7. Bolt Drill Bit Sharpener to a bench to prevent movement.

8. Use accessories only in the proper and intended manner.




ExtenSiOl'l COI'd When using the tool at a con-

siderable distance from power source, a 3 conductor ground-
ing-type extension cord of adequate size must be used for
safety and to prevent loss of power and over-heating. Use the
table below to determine the minimum wire size required.

Use only three wire extension cords which have three-prong
grounding-type plugs and three-pole receptacles which accept
the tool’s plug. Replace or repair damaged cords.

Ampere rating Oto 2.10to 3.5t 5.10to 7.10to 12.1to
(on nameplate) 2.0 3.4 5.0 7.0 12.0 16.0

Ext. Cable length

Wire Size (A.W.G.)

25 ft. 18 18 18 18 16 14
50 ft. 18 18 18 16 14 12
75 ft. 18 18 16 14 12 10
100 ft. 18 16 14 12 10 —
150 ft. 16 14 12 12 _ —
200 ft. 16 14 12 10 — —

Groundlng This tool should be grounded while in

use to protect the operator from electric shock. The tool is
equipped with an approved three-conductor cord and three-
prong grounding type plug to fit the proper grounding type
receptacle. The green (or green and yellow) conductor in the
cord is the grounding wire. Never connect the green (or green
and yellow) wire to a live terminal. If your unit is for use on less
than 150 volts, it has a plug like that shown in Figure A. If it Is
for use on 150 to 250 volts, it has a plug like that shown in
Figure D. An adapter, Figures B and C, is available for connect-
ing Figure A plugs to two-prong receptacles. The green-colored
rigid ear, lug, etc., must be connected to a permanent ground
such as a properly grounded outlet box. No adapter is available
for a plug as shown in Figure D. Adapter shown in Figures B &
C is not for use in Canada.

We recommend that you NEVER disassemble the tool or try to
do any rewiring in the electrical system. Any such repairs
should be performed only by B&D Service Centers or other
qualified service organizations. Should you be determined to
make a repair yourself, remember that the green colored wire
is the “grounding” wire. Never connect this green wire to a
“live” terminal.

L 4

INCLUDED ANGLE

120° to 135°
CHISEL EDGE

Standard equipment

1. Special grinding wheel with 3° bevel on sharpening surface.
2. Diamond wheel dresser.
3. Extra locator.

Accessories

Cat. No. 43000 Replacement 5" x 34" Grinding Wheel.
Cat. No. 43001 Replacement Diamond Dresser.
Cat. No. 43002 Bit Locator. '

The above accessories are recommended for use with your
Drill Bit Sharpener. CAUTION: The use of any other accessory
or attachment might be hazardous.

Drill bit terminology

LIP RELIEF '

ANGLE

OF POINT
118°

N

FLUTE LENGTH

ANGLE

WEB

CUTTING
LIP

FIG. 4

A primary requirement for drilling accurately sized holes is that
there be minimal difference between the lip heights of the two
flutes. Variations in the two lip heights will alter the centrality
of the point which will produce eccentric drilling. See para-
graph 6 of Troubleshooting on page 10. Your B&D sharpener
is engineered to produce equal lip heights and a centrally
located point.




!
i

Shifting selector to sharpen bits or dress wheel

When you are ready to sharpen bits, the selector
switch must be in the “S” (sharpen) position. The
“D” (dress) position is used when dressing the
grinding wheel.

IMPORTANT: Improper shifting from “D” (wheel
dressing) to “S” (bit sharpening), and vice versa,
can cause damage and make your sharpener inop-
erative. The correct methods of shifting are
illustrated.

Shifting from “S” (sharpen) to
“D” (dress)

NOTE: Be sure to do Step 1 before Step 2. Other-
wise, the swinghead will not move up to the eye-
shield.

1. Pivot s

Shifting from “D” (dress) to
“S” (sharpen)

1. Line up mark on dress knob with parting line of
housing. Position swinghead close to the eyeshield.

2. Shift mode selector to “S”. DO NOT FORCE.

If selector switch will not seat, rock dress knob back
and forth while keeping slight pressure on selector
switch until it snaps into place.



Sharpening of drill bits

Preparing to sharpen

NOTE: First, check the unit for the adjustments ex-
plained under “Adjustments” on page 10.

1. The swinghead has two indexing positions, 180°
apart. Rotate sleeve to make sure it is seated, with
locator in top position. Make sure selector switch
on top of the tool is in the “S” (sharpen) position.

3. Open chuck jaws by turning chuck nut counter-
clockwise.

4. Insert smaller diameter bits paﬂst the locator
directly into the chuck.

6

\

5. Insert larger diameter bits through the openin
in the chuck head.

6. Position bit so that tip is approximately 1{¢" below
end of locator. Be sure straight edge at end of lo-
cator is flat against flute. This positioning of the bit
with the locator is the key to satisfactory sharpening.

Sharpening

NOTE: Broken bits are more easily sharpened if they are
first roughed into shape by hand on a bench grinder. This
will eliminate unnecessary wear on the grinding wheel.

First cutting lip

= e
1. With motor “OFF"”, lower swinghead to sharpen-
ing position.




2. Turn feed knob clockwiée until almost
touching the wheel when swinghead is rocked back
and forth.

NOTE: Turning feed knob clockwise feeds bit into
wheel; turning counterclockwise backs bit away
from wheel.

3. Turn motor “ON". Gently rock swinghead back
and forth as you turn the feed knob clockwise. DO
NOT USE HEAVY HAND PRESSURE WHEN ROCK-
ING THE SWINGHEAD.

Important: Advancing the feed knob one number
(e.g., 2 to 3) moves the bit 5 thousandths of an inch
closer to the wheel. Each calibration (mark) be-
tween numbers moves the bit 1% thousandths.

4. Moving the feed knob clockwise one calibration
(mark) at a time, continue to rock the swinghead
across the wheel until the edge of the bit is about
145" from the end of the locator. BE CAREFUL NOT
TO GRIND LOCATOR. IMPORTANT: Make a note
of the final feed knob setting because you’ll need it
when you sharpen the second lip.

5. Now turn feed knob counterclockwise several
turns to back bit away from grinding wheel.

SLEEVE

6. Move swinghead down and back to rest position
illustrated. Rotate sleeve 180° clockwise until it
snaps into the second index position. (The locator
will now be on the underside of the chuck.)

Sharpening

Second cutting lip

1. Repeat steps 3 and 4 under “Sharpening, first
cutting lip.”

2. STOP SHARPENING WHEN THE FEED KNOB
REACHES THE CALIBRATION YOU NOTED.

For finest finish, turn feed knob one more calibra-
tion and grind bit. Without touching feed knob, turn
sleeve 180° clockwise (step 6 on this page) and
grind first lip until sparking stops.

3. Turn motor “OFF”. Raise swinghead to loading
position and remove bit. CAUTION: Tip of bit may
be hot.




Wheel dressing

The special grinding wheel included with your B&D
drill bit sharpener is ready to sharpen your bits.
When the sharpening surface becomes worn and
uneven, it's time to dress the wheel. Follow these
steps:

IMPORTANT: See instructions for shifting from “S”
(sharpen) to “D” (dress) under SHIFTING SELEC-
TOR TO SHARPEN BITS OR DRESS WHEEL page
5. After you have taken the necessary steps, pro-
ceed to:

1. Press latch and move swinghead to loading
position.

2. Take diamond dressing tool which is kept in the
spring-clip in back of the sharpener. Remove pro-
tective sleeve. Position the dust shield as shown
below. Position diamond dresser in chuck, with

diamond tip %e” beyond locator as illustrated.
Tighten chuck jaws by turning chuck nut clock-
wise. Slide dust shield up against face of chuck to
prevent grit and dust from fouling chuck.

3. Move swinghead downward until latch engages.
Adjust feed knob clockwise until diamond tip almost
touches sharpening surface of the grinding wheel.

4. With SLIGHT PRESSURE, push swinghead back
and away from eyeshield until it stops.

5. Turn motor “ON”. Maintain light pressure, away
from the eyeshield, on the swinghead. Move the
diamond back and forth across the wheel by turning

8

the dress knob clockwise and counterclockwise.
Feed the diamond into the wheel by turning the feed
knob, clockwise, one calibration at a time. Smooth,
continuous motion completely across the face of
the wheel will provide a smoother finish. Stopping
the diamond on the wheel will score it. Removing
wheel material during the outside-to-inside motion
of the diamond will assure a finer finish.

6. Turn motor “OFF”. Back off feed knob (turn
counterclockwise) enough so that diamond clears
sharpening surface of wheel. Return swinghead to
loading position. Remove diamond dresser and dust
shield.

To change from “D” (dressing)
to “S” (sharpening)

1. Line dress knob mark up with parting line of
housing.

2. Move swinghead close to eyeshield.

A—

"\

SHARPEN/DRESS
SELECTOR

DRESSER DUST
FIG. 6 SHIELD

3. Shift mode selector to “S”. DO NOT FORCE. If
selector will not seat, check position of dress knob
mark.




Wheel replacement

Maintenance

Replace the grinding wheel when it has been worn
down from the original 5 to 4” dia. CAUTION:
REPLACE A CRACKED WHEEL IMMEDIATELY!

For replacement, use only a B&D Cat. No. 43000
5" x %" wheel. This wheel is desighed specifically
for this tool.

To replace the grinding wheel:
1. UNPLUG TOOL.

2. Remove 3 screws holding wheel cover and re-
move cover. -

3. Hold wheel with a rag to keep it from turning and
remove spindle nut and clamp washer (LEFT
HAND THREAD—TURN NUT CLOCKWISE). Re-
move wheel.

4. Move guard band and finger guard to uppermost
position (Figure 10).

5. Attach new wheel (Fig. 7) (Note that the wheel
is marked to show which side faces out.) with
clamp washer and spindle nut. Hold wheel with a
rag and tighten nut counterclockwise. Do not
overtighten.

6. Adjust guard band and finger guard to about %4¢"
from wheel (Figure 10) and tighten adjusting
SCrews.

7. Replace wheel cover.

8. For best results dress the new wheel with the
diamond dresser.

Self lubricating bearings are used in the tool and
periodic relubrication is not required. However, it
is recommended that, once a year you take or send
the tool to a B&D Service Center for thorough clean-
ing and inspection.

Important o assure product SAFETY and
RELIABILITY, repairs, maintenance and adjustment
should be performed by B&D Service Centers or
other qualified service organizations, always using
Black & Decker replacement parts.




Troubleshooting

PROBLEM

REMEDY

1. Chisel angle too great—
greater than 135°

Bit was not ground close
enough to locator or was
positioned incorrectly.
See Step 6 under “Prepar-
ing to sharpen,” Page 6.

2. Chisel angle too small —
less than 120°

Edge of locator was not
flat against flute. See Step
6 under ‘‘Preparing to
sharpen,” Page 6. Or bit
was ground foo close to
locator.

3. Bit will not drill

Insufficient relief angle.
See Step 6 under “Prepar-
ing to sharpen,” Page 6, for
proper positioning of bit.

4. Discoloration (burning)
near cutting lips

Material is being removed
too fast. Slow down feed
rate.

5. Flats or chatter marks on
ground surfaces

A. Looseness in pivot rod
bearing system — see
adjustments

B. Wheel needs dressing

C. Feed at slower rate

D.Slow down speed of
rocking motion

Adjustments

FROM TIME TO TIME ADJUSTMENTS MAY BE
NECESSARY DUE TO WEAR OR SEVERE HAN-
DLING OF THE UNIT DURING SHIPMENT OR
MOVEMENT FROM PLACE TO PLACE. SHOULD
ADJUSTMENTS BECOME NECESSARY, THE FOL-
LOWING PROCEDURES SHOULD BE FOLLOWED
CAREFULLY TO INSURE PROPER AND SAFE
OPERATION OF YOUR SHARPENER.

UNPLUG TOOL BEFORE MAKING ANY
ADJUSTMENTS

1. Looseness in Pivot Rod Bearing System (Fig. 8)
A. Set selector lever to “S” (sharpen).

B. Position swinghead with locator approximate-
ly 5" above wheel.

C. Loosen both front bearing gib screws until
slight side play in pivot rod is evident.

D. While rocking swinghead, adjust back bearing
gib screw until very slight pivoting resistance
is felt. Back off screw ¥s to ¥ turn.

E. Adjust front bearing top and bottom gib screws
evenly, while rocking swinghead, until slight
pivoting resistance is felt.

FEED KNOB

RETAINING SHARPEN/DRESS

SELECTOR

SWING-
6. Large variation in lip A. Bent bit : HEAD BACK BEARING
height (point off center) B. Looseness in pivot rod -+ GIB SCREW
bearings—follow adjust- :
ments HLFRONT BEARING
C. Unequal hand pressure GIB SCREW

on swinghead while TO
sharpening | ( P)

7. Swinghead will not stay
locked in sharpening or
dressing position

Latch set screw needs
adjustment.

8. Hard to pivot swinghead
back and forth

Gib screws adjusted too
tight.

9. Bent locator

Place a %" bit in chuck
and bend locator until the
tip is directly over bit cen-
ter or replace locator.

10. Unit getting unusually hot

Check motor air intake and
exhaust openings on bot-
tom of tool for blockage.

10

CHUCK
RETAINING FRONT BEARING
SCREW GIB SCREW
PIVOT  (BOTTOM)
ROD :
FIG. 8



2. Latch Adjustment (Fig. 9)
A. Move swinghead to Sharpening Position.

B. Loosen chuck retaining set screw with 8"
Allen wrench until chuck and detent spring can
be removed from swinghead.

C. Adjust latch set screw with 14" Allen wrench
so that swinghead locks firmly into sharpening
position.

D. Replace detent spring (note orientation of “U”
and “V" shaped projections) and chuck.

E. Tighten set screw so that chuck is snug in
swinghead but can be easily rotated.

FIG. 9
l CHUCK
FELT SEAL
| V" SHAPE UP
DETENT SPRING
LATCH

“U” SHAPE DOWN

PRESS
CHUCK RETAINING

3. Finger Guard and Guard Band (Fig. 10)

Adjust opening between guards and wheel to
146" by means of adjusting screws as shown.
Maintain clearance as wheel wears.

GUARD

BAND
1/16"

1 1/16"

FINGER
GUARD

3

FINGER

GUARD BAND @

ADJUSTING /

SCREW

GRINDING GUARD
WHEEL ADJUSTING
SCREW
FIG. 10

For quick service of any kind on.
“your B&D Drill Bit Sharpener, or

SET SCREW for replacement parts, call your
nearest Black & Decker Service
SWINGHEAD PLUG Canfer.
CLAMP SCHEW LATCH SET SCREW’
Guarantee

Black & Decker guarantees for one year from date of purchase,
to correct by repair or parts replacement without charge
any defect due to faulty material or workmanship. Simply
return the complete unit, transportation prepaid, to any
Black & Decker Service Center or Authorized Service Station.
Naturally, we assume no responsibility for damage caused
by misuse, careless handling or where repairs have been made
or attempted by others. No other guarantee, written
or verbal, is authorized by us.

11



10-600ZZL "ON o4 ToNOISSTHOMS FHL HOH )
S7004 MO0 ALIGANTH ®

sayaag = yoeg { (123

‘V'S'N ‘$0Z1LZ PN ‘UOSMOL “09 "OAIN HIANDIA ® ¥OVid FHL

‘lenuew siyj} jo oL ob6ed o} Buliiajas ‘Jun InoA jo
sjuswisnipe ay} )29Yyo 0} Sajnuil M) B a)e)] asesjd ‘Alessasau aq Aew sjuawisnipeas ybis ‘Juswdiys Buunp
ins20 ybiw jey; Bujjpuey ybnoi o} anp ‘lanamoy “Aiojoe} ayl Je pajsnipe Ajejajdwos si Jouadieys siyL :JLON

‘2Jn}eu puoodss
awoo2aq [|IM Aayl ‘sainpadsoid ay} mouy
noA 8duQ ‘jenuew SIyl Ul SuUOiONJISUl
ayl MO||o} noA leyl |eljuassa S| }l ‘Sw9)
-qoJid ploae pue s)jnsau Aioloejsies 186 01
1INg ‘A|10844109 8)euado 0] Ases s.}| "810j8(
pasn JaA8 aAeY NOA Aue ayijun si |00} SIy |

V'8N Ul pajupd



Item Part

=

W N W N e

—
o

1
12
p13
14
15
16
17
18
g19
20
21
22
23
24
25
26
27
28

29
30

31
f32
33

34
f 35
36
37
38
39
40

41

42
0
44
45
g 46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
d6a
65

89250
89247
89249
89253
89251
89254
89452
89257
99408-04
91195
89245
91651
91652
9942303
92071
92168
36486
89460
89239
89244
416
15577
89272
89277
43001
80487
89261
36386
89267
89242
89321
94374
72061
89268
99289-07
89271
99207-13
51072
91179
89263
89264
89241
8924101
89336
406
89240
51108-98
34289
52512
8927951
88060-01
30612
93365
94226
99460-38
99326-08
92284
99460-10
92776
81999
52844
74008
89288
43000
89286

Description

Sleeve

Nut

Pusher

Jaw (3)

Spacer

Nosepiece

Detent Spring

Locator

#4-40 x Y4 FHM Screw (2)
Seal

Swinghead

Jamb Spring

6-32 x 3/16 Set Screw
6-32 x 3/16 FHM Screw
14-28 Shoulder Screw
Washer

14-28 Nut

Plug

14-28 x 5/16 Set Screw
Pivot Arm

14 Lockwasher

3-28 x % SHC Screw
Spring Clip

Dust Cover

Diamond Dresser (Incl. 24)
8-32 x Vs Self-tap. Screw (6)
Shield

14-28 x % Set Screw (2)
Plate

Bearing Block

Shoulder Washer

Feed Screw

Tube, Paper

Feed Knob

6-32x7/16 PHM Screw
Pivot Rod (Incl. 37, 38 & 39)
Roll Pin

Roller

Rivet

Mode Spring

Mode Tab.

Bearing Half (Housing)
Bearing Half (Housing Cover)
Gear

10-32 Nut

Dressing Knob

Cord & Plug

Terminal

8-32 x Va Screw

Stator

Switch

Rubber Plug (2)

Rubber Plug

Housing (Incl. 86)

10-32 x 2% FHM Screw & W. (2)
10-32 x %2 PHM Screw & W.
Guard

10-32 x % FHM Screw & W. (2)
Guard Band

14-20 Nut

10-32 x Y4 Self-tap. Screw (2)
3-24 Nut (L.H)

Quter Clamp Washer
Grinding Wheel

Bushing

Form No. 722010-02

Item Part
No. No. Description
66 89285  Inner Clamp Washer
67 71806  Ball Bearing (2)
68 89274  Bearing Clamp (2)
69 89283 Fan
70 55206  8-32 x 3s Self Tap. Screw
89282  Rotor Assem. {Incl. 65, 66, 67,
69,71,72)
f71 90995  Rotor & Shaft
72 700533 Ret. Ring
73 89237  Cover Housing (Incl. 78, 85)
74 89294  Eye Shield
75 89290  Wheel Cover
76 370 10-32 x ¥ FHM Screw (3)
77 99250-07 ¥%4-20 x7/16 PHM Screw
@78 93442  Caution Label
79 89289  Pad
80 46290 '5/16-24 x 7/16 Set Screw
81 89262  Cover Plate
82 418 78 Lockwasher
84  99586-02 Attachment Plug
85 92861 Instruction Label
86  93441-01 Nameplate
87 23264 Cone Washer
88 52181  Thrust Washer
{# Notes

Item 7—Small “V's" in detent spring to be

mounted up, towards nosepiece.
13—Adjust set screw so that jamb spring
locks swinghead firmly against pivot
arm,
19—Apply RTV sealant to threads in
swinghead prior to assembling set
SCrew.

(SEP.74-PS)

32—Some units built with Ret.
60325-01

35—Adjust screw so that there is no end
play in item 32, but do not overtighten.

46—Short tooth spline on ltem 44 must
be aligned with first slot counter-
clockwise from notch in dressing knob.

64— Tapered wheel — must be mounted
with larger diameter side facing
away from tool.

71—Rotor must be assembled with the fan
end bearing flush to the housing
before tightening bearing clamps.

78—Some units built with Nameplate
92849-01 in this area.

87—Large diameter to face ltem 34

PART NOT SHOWN
89257 Replacement Locator

Ring

IMPORTANT!—To assure produci
SAFETY and RELIABILITY, repairs,
maintenance and adjustment
should be performed by BLACK
& DECKER Service Centers or
other -quaTified service organi-
zations, always using BLACK &
DECKER replacement parts.

WHEN ORDERING REPLACEMENT PARTS YOU
MUST GIVE UNIT, TYPE AND CATALOG
NUMBER AS SHOWN ON NAMEPLATE, PLUS
PART NUMBER AND NAME OF PART NEEDED.

H. D. DRILL BIT SHARPENER

Cat. No.  Volts Type Amps. RPM
4300 120 1 22 3600

The Black & Decker Mfg. Co.
Towson, Maryland 21204

Printed in U.S.A. | BULLETIN NO. 8391-2




